
ICM    Name ________________________________________ Date _________ 

4.2 Exercises - Applications of Basic Operations 

Complete each item on separate paper.   

1.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2.    

 

 

 

 

 

 

 

 

 

3.  If both labor and materials at plant X in item 2 are increased 20%, write the matrix operations (in terms 

of A and B) used to find the new average cost of production for the two plants. 

 

 



 

 

4.                                                   Fruit Farms 

 

 

          a)  Write matrix A so that it represents the location/production table. 

 

 b)  Write matrix B so that it represents the income by fruit table and so that it can be 

     multiplied by matrix A. 

 

c)  Calculate the total income for each farm. 

 

d)  Find the total income of all three farms. 

 

Use matrix multiplication to complete items 5 and 6.  You must write the matrix multiplication to 

receive credit. 
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7.   

 

 

 

 

 

Location Peaches Apricots Plums Apples 

    Farm 1 165 217 430 290 

    Farm 2 243 190 235 175 

    Farm 3 74 150 198 0 

 Peaches Apricots Plums Apples 

Income 26 18 32 19 


